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1. Introduction
According to the agreements achieved in the previous RAN2 meetings, the MeNB and the SeNB independently performs the activation/deactivation of its SCell(s). Regarding the DC cell(s) addition/release, the MeNB sends the RRCConnectionReconfiguration message to the UE. In this contribution, we discuss the glitch issues caused by the SCell activation/deactivation and the DC cell(s) addition/release.
2. Discussion
2.1. Scenario analysis on the glitch issue
According to 36.133 [1], the interruption for both downlink and uplink of PCell/activated SCell occurs at SCell addition/release and activation/deactivation, and the interruption for intra-band CA and inter-band CA is up to 5 subframes and 1 subframe respectively. To avoid the packet transmission loss, the time period of the interruption are specified in [1] that “upon receiving SCell activation/deactivation command in subframe n, the PCell interruption shall not occur before subframe n+5 and not occur after subframe n+9 for E-UTRA FDD, and the PCell interruption specified in section 8.3.3 shall not occur before subframe n+5 and not occur after subframe n+11 for E-UTRA TDD”. For SCell addition/release, the extra 5ms PCell interruption is counted for the RRC processing delay in 36.331 [2]. Thus the eNB can avoid scheduling the UE during the specified interruption period for the CA UE. However, according to the DC architecture, the current specified interruption period cannot avoid the packet loss for the DC UE.
2.1.1 PCell/Activated MCG SCell interruption
Table 1: MCG transmission loss caused by PCell/Activated MCG SCell interruption
	
	(1) MCG SCell addition/release
	(2) SCG SCell/PSCell addition/release
	(3) MCG SCell activation/deactivation
	(4) SCG SCell activation/deactivation

	MCG packet loss
	No
	No
	No
	Yes


In Table 1, as the RRCConnectionReconfiguration message is sent by the MeNB, the MeNB can avoid scheduling the UE during the interruption period caused by the addition/release of MCG SCell or SCG SCell/PSCell. For the activation/deactivation of MCG SCell(s), the activation/deactivation command is sent by the MeNB, the MeNB can also avoid the packet loss during this interruption period caused by the activation/deactivation of MCG SCell(s). For the activation/deactivation of SCG SCell(s), because the activation/deactivation command sent by the SeNB is unknown by the MeNB, the MeNB is not able to avoid the packet loss during the interruption period. 
Observation 1: Packet loss at MCG occurs upon SCG SCell activation/deactivation
2.1.2 PSCell/Activated SCG SCell interruption

As the PSCell with PUCCH is always activated like the PCell, the PSCell interruption is expected due to the addition/release or activation/deactivation of DC cell(s). A summary on the SCG packet loss due to the PSCell/activated SCG Scell interruption is given in Table 2.
Table 2: MCG transmission loss caused by PSCell/Activated SCG SCell interruption
	
	(1) MCG SCell addition/release
	(2) SCG SCell addition/release
	(3) MCG SCell activation/deactivation
	(4) SCG SCell activation/deactivation

	SCG packet loss
	Yes
	Yes
	Yes
	No


Same as the analysis given for Table 2, the timing when the RRC message or the MCG SCell activation/deactivation command are sent is unknown by the SeNB, the SeNB is not able to avoid the packet loss during the PSCell/Activated SCG SCell interruption. Only for the SCG SCell activation/deactivation case, the SeNB can avoid scheduling the UE during the PSCell/Activated SCG SCell interruption. 
Observation 2: Packet loss at SCG occurs upon MCG SCell addition/release; SCG SCell addition/release; SCG SCell activation/deactivation

As the time left in Rel-12 is quite limited, RAN2 is kindly requested to discuss if the glitch issue can be avoided by not configuring SCell(s) for DC in Rel-12.
Proposal: RAN2 is kindly request to discuss if the glitch issue shown in Observation 1 and 2 should be resolved.
3.  Conclusion
According to the analysis in section 2, we have observed the packet loss issue due to PCell/PSCell/Activated SCell interruption. The Observations are given as follows:
Observation 1: Packet loss at MCG occurs upon SCG SCell activation/deactivation
Observation 2: Packet loss at SCG occurs upon MCG SCell addition/release; SCG SCell addition/release; SCG SCell activation/deactivation

To solve the packet loss issues, RAN2 should decide if a solution is needed.
Proposal: RAN2 is kindly request to discuss if the glitch issue shown in Observation 1 and 2 should be resolved.
4. References

[1]. 3GPP TS 36.133, “Requirements for support of radio resource management”.
[2]. 3GPP TS 36.331, “Radio Resource Control (RRC); Protocol specification”.

[image: image1.png]





























































































PAGE  
1
R2-144855

